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The stalls were filled
with items.

1. First, rewrite the sentence and add modifying nouns or adjectives to create expanded
noun phrases.

2. Next, rewrite the sentence from Step 1 but start your sentence with a fronted adverbial.

3. Finally, rewrite the sentence from Step 2 but choose a subordinating conjunction from
the box below to add a subordinate clause.

after although as because before

if since until when while
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The purpose of a discussion is

to present balanced
arguments about an issue so
that the reader can make an

informed decision. Examples of

~discussions include:
* academic essays

Discussion texts use:

Present tense

Modality =~

Evaluative language

Cause and effect connectives
Comparisons.

* debates.
e —— Should Teachers Assign Homework?
e “One of the most controversial issues in education
éintroducﬁ;:éé is whether or not teachers should assign
- ~ 1 | homework for their students.
[ One of the main reasons why homework sy be

Arguments

| community group.

informed decision.

helpful for students is that it encourages them to
revise learning that has taken place during the
school day. Revising work makes retaining
knowledge easier. However; quite often teachers
assign homework that is completely unrelated to

— | the learning take place in the classroom. Therefore,
homework can often be a rather pointless exercise.

Another benefit to homework is that it helps
students develop responsibility and good work
habits. However; it is fair to say that the same
skills could be developed through other
after-school activities such as doing
household chores, learning a
musical insirument or joining d

In order to decide whether or not
oo | to assign homework, it is vital
Conclusiont—! that teachers gather all the
T | evidence in order to make an




Remember to:
« plan your writing;

- use persuasive words;
- start a new paragraph for every new argument you are making;

+ use connectives, such as ‘however’, ‘therefore’, ‘on the
other hand', ‘also’, ‘so’, ‘but’, ‘and’;

. write in past or present tense using
second or third person;

read over your work to check for
any parts that may need editing;

make your position clear and use evidence
and reasons to support your ideas.
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Discussion Writing Planner

Is Takeaway Food a Good Option?

Introduction

First idea and supporting evidence for the argument

Second idea and supporting evidence for the argument

First idea and supporting evidence against the argument

Second idea and supporting evidence against the argument
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Conclusion

Connective Language Ideas

Persuasive Language Ideas

EP_—.\
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Is Takeaway Food a Good Option?
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Compensation Strategy Addition

Show how you got your answer using the compensation strategy.

a. 59 +35= b. 49 +25=
c. 64 +29= d. 55 +39 =
e. 69 +35= f16+79=
g. 89 +13 = h. 73+39 =
i. 99 +25 = j. 79 + 24 =
k. 47 +59 = l. 56 + 49 =
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Compensation Strategy Addition

Show how you got your answer using the compensation strategy.

a. 89 +45= b. 129 + 45 =
c. b4 +129 = d. 45+ 149 =
e. 99 +75 = f. 13+179 =
g. 89 +133 = h. 109 + 56 =
i 43 +119 = j. 89 +74 =
k. 35+ 259 = l. 279 + 66 =
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Use the steps below to improve this sentence:

The girl jumped in a field.

1. First, rewrite the sentence and add modifying nouns or adjectives to create expanded
noun phrases.

2. Next, rewrite the sentence from Step 1 but start your sentence with a fronted adverbial.

3. Finally, rewrite the sentence from Step 2 but choose a subordinating conjunction from
the hox below to add a subordinate clause.

after although as because before

if since until when while
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Television Is a Waste of Time

You are gomg to wrlte a dlscussmn for and agamst the statement: Watchmg telewsmn is
a waste of ttme '

Imagme that gou have to present thts speech to a group of aduh:s who ore thmhmg about .
bugmg a new te[ewsmn e '

Thmh about the posm\/e o.nd negattve meacts of watchmg teleVLSLon Tthle about the
-money that WLll be spent the time that ‘could be spent domg other meortant thmgs cmcl
."what happens to the enwronment because of the use of electrtaty o '

-_'-'.?_'_Remember that o dlscusswn text ts wrttten to show both s;des of an
g argument or: tssue' : Limaimainen e o
"_'Before gou begLn gour wrttmg, thmh about the followmg

-_-Introductton It states tho.i: dtﬁerent peofple or. gro:ups

Remember to:
» plan your writing;

+ use persuasive words;
- start a new paragraph for every new argument you are making;

» use connectives, such as ‘however’, ‘therefore’,
‘on the other hand’, ‘also’, ‘so’, 'but’, ‘and’;

- write in past or present tense using
second or third person;

- read over your work to check for any
parts that may need editing;

« make your position clear and use evidence

and reasons to support your ideas.
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Discussion Writing Planner

Watching Television Is a Waste of Time
Introduction :

First idea and supporting evidence for the argument

Second idea and supporting evidence for the argument

First idea and supporting evidence against the argument

Second idea and supporting evidence against the argument

W visit twinkl.com ;@’
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Conclusion

Connective Language Ideas

Persuasive Language Ideas

e
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Watching Television Is a Waste of Time
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Compensation Strategy Subtraction

Show how you got your answer using the compensation strategy.

Q. 77-49 = b. 91-49 =
c. 92-61= d. 87-31=
e. 78-52 = f 96-52=
g. 88-19 = h. 67-38 =

[y
!
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Compensation Strategy Subtraction

Show how you got your answer using the compensation strategy.

a. 126 -31= b. 117-61=
c. 164-91= d. 98-32 =
e. 156 - 89 = f. 147 -58 =
g. 187-39 = h. 175 - 48 =

T
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Rangoli Colour by Multiplication

Solve the multiplication calculations and colour each shape using the correct colour.

0-10
1 - 20

61 -70
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Emoji Code Breaking
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Emoji Code Breaking
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L

(Use the code to find the answers to the r[ddles)

A | B|C | D|E F 1 G| H I J I K| L | M

14 26 n 20 4 19 12 | 24 1 25 6 23 5

N | O Pl Q R | S T Uiy v iw]|X|Y Z
13 7 15 2 17 | 21 | 10 | 22 8 16 3 18 9

9. what can you catch but not throw?

14 1n |7 23120

2. What begins with T, finishes with T, and has T in it?

14 10 4 4 {15 7 10

3. What question can you never answer yes to?

14 | 17 4 18 7 22 14 | 21 | 23 4 4 15 18 4 110

£, 1 am an odd number. Take away a letter and I become even. What number am 17?

21 4 8 4 | 13

5;» What's black and white and blue?

14 21 | 14 | 20 9 4 26 | 17 | 14

Page 1 of 2 visit twinkl.com




Riddle Code Breaker

A B C D E F G H I J K L M

14 26 11 20 4 19 12 24 1 25 6 23 5

NI O | P | Q)| R} S TIU[ V]I W] X|Y Z
13 7 15 2 17 | 21 | 10 | 22 | 8 16 3 18 9

&w Where can you find cities, towns, shops, and streets but no people?

7 13 14 5 14 | 15

7. What word is spelled wrong in the dictionary?

16 17 7 13 1 12

8. what can you find once in a lifetime, twice in & moment, but never in one hundred years?

10 | 24| & 23 | 4 |10 [ 10| 4 17 5

Q. Where does success come before work?

1 13 10 | 24 | & 20 1 1 110 1 7 13 |14 |17 |18

When things go wrong, what can you always count on?

18 7 22 | 17 19 1 13112 | 4 17 | 2
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Dow

A place next to the sea

Some have diving boards
Little white flower

Can build this on the beach

A month in Summer

Protects your head in Summer

Eat it on a blanket

Going on a trip

Protects your skin in Summer

In the sky, you shouldn't look at it
Lots of fish and mammals live in it
You can collect them on the beach
Protects your eyes in Summer

Eat it in a cone or a cup

Very bright, can be seen in storms
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